
Changing Bases of Logarithms - Example 1

Example: Compute log2(3) rounded to 3 decimal places
Since we cannot compute log2 on our calculators, but can compute
log = log10, we want to change the base using our Change of Base Formula

logb(x) = loga (x)
loga (b)

Changing the base from 2 to 10, we get:
We can compute the right side with a calculator using the log button
Conclusion: log2(3) ≈ 1.585
Note: We could have changed the base to either 10 or e but had to pick
one.

http://coobermath.com/Exponential_Functions/Logarithms/Properties_of_Logs/Properties_of_Logrithms_Change_of_Base.pdf
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